1000/c 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

7000 GeV Jets
103 = T T p|p L I L R B IR I %)
— pu— c
— . Jo
, T Jet Mass (antl-kT(0.7), 28OO<pT<1OOO, ly|<2.5) -3
10° = ==
= =
- I~
10 = —EN_
= =
[ —
— —{o
1e =5
— ==
~ -
10_1 E_ _E
1072 g~ zﬁ =_
= =9
— <
10° em m CMs _§§
—  --%-- Pythia 6.427 355 949
1074 & = Pythia 6.427 356 - ;
= —A— Pythia 6.427 370 35
10 C Pythia 6.427 379 s
= Pythia 6.427 ambt1 S c
] — —— Pythia 6.427 z2 18
- I — 0
107 E =l
— i Nel
| 4 O
07 = U I
2 B —2
B Eﬂ _
1 I:'
05
" 1 " 1 " 1 " " | " " " " " | "
0 100 200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


